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#a%k| 46, 408|[ 109, 384[ 53, 488] 55, 896 113[ 25| -33 50 87 12]  879] 867 0 149 149

HF—TH 674 1,422 693 729 3 -2 -3 0 3 0 6 6 1 2 1

S TH 553[| 1,330 670 660 4 1 -1 0 1 1 6 5 1 2 1
FLIL=TH 449[ 1,012 487 525 0l  -16 -3 0 3 -13 6 19 0 1 1
SLlaEhl 1,676l 3,764 1,850 1,914 71 -17 -7 0 7N -12 18 30 2 5 3
B —TH 489 1,025 488 537 4 2 0 1 1 2 5 3 0 0 0
Sern_TH 766[ 1,841 890 951 3 3 0 0 0 6 7 1 -3 0 3
Sy an—TH 535( 1,284 619 665 5 8 0 1 1 11 14 3 -3 0 3
LN 371 910 442 468 1 -1 -1 0 1 -2 2 4 2 3 1
ey nt ] H 558|| 1,255 611 644 1 -3 0 1 1 -2 8 10 -1 2 3
AT 219 484 229 255 2 -1 0 0 0 -1 0 1 0 3 3
SerantTH 635[ 1,644 815 829 0 -1 1 1 0 0 8 8 -2 2 4

g a/NT H 396 924 456 468 -2 0 -1 0 1 1 4 0 1 1
o BILT B 592 1,444 724 720 0 -3 -1 0 1 -5 10 15 3 3 0

S e gkl 4,561 10,811 5,274| 5,537 14 4 -2 4 6 10 58 48 -4 14 18
Kok w1 H 335 816 408 408 -1 -1 0 0 0 -6 3 9 5 5 0
Wk a_TH 924( 2, 021 986 1,035 -3 -9 -5 0 5 2 16 14 -6 0 6
Wk a=TH 671 1,457 712 745 -1 -4 -1 0 1 -3 5 8 0 5 5
W A E 1,930 4,294| 2,106 2,188 -5  -14 -6 0 6 -7 24 31 -1 10 11
s Aa—TH 570( 1,254 615 639 -1 -7 -2 0 2 -6 1 1 1 0
A _TH 381 937 489 448 4 4 0 0 0 4 7 0 1 1
s A=TH 243 546 268 278 3 1 0 0 0 0 5 1 1 0
s AT B 533|[ 1,312 671 641 -2 -11 -3 0 3 -4 1 -4 0 4
mskr SAE 1,727 4,049] 2,043] 2,006 4 =13 -5 0 5 -6 14 20 -2 3 5
THE0 351 975 431 544 -2 -1 -1 0 1 0 0 0 0
FOEE— T H 154 385 181 204 0 0 -1 0 1 0 1 1 0
FOEEN T H 411 984 469 515 1 -3 -3 0 3 0 0 1 1
HEEI=TH 669 1,712 820 892 6 11 0 1 1 2 17 15 9 9 0
HOEEA T A 708|[ 1,770 858 912 -3 -19 -1 1 2 -14 18 -4 0 4
L gUENE 402 973 490 483 -3 2 -1 0 1 2 1 1 0
FOEEIN T H 390 949 463 486 1 1 -1 0 1 2 0 1 1
eIt T H 636 1,453 713 740 -6|  -12 1 1 0 -8 16 -5 1 6
HOEDAEE L 3,370| 8,226| 3,994| 4,232 -4 20 -6 3 ol -16 49 65 2 14 12
FOEEH| 1,478 2,985 1,399 1,586 0 -1 -3 0 3 2 15 13 0 1 1
FEIAR 328 696 349 347 2 2 -1 0 1 3 4 1 0 0 0

GBS T 444 955 464 491 -4 -16 0 0 o -11 0 11 -5 2 7
GEERARR T H 232 492 250 242 -4 -8 -2 0 2 -3 2 5 -3 0 3
GEERAR =T H 490[ 1,139 573 566 3 2 -3 0 3 2 8 6 3 3 0
B Pl T 593|| 1,265 598 667 7 13 1 2 1 2 11 9 10 10 0
GEERAR T T H 198 520 251 269 1 -2 0 0 0 -2 2 0 0 0
EEAh g AS| 1,957 4,371 2,136 2,235 3| -11 -4 2 6 -12 23 35 5 15 10
BRI T 664 1,393 657 736 16 15 0 1 1 15 28 13 0 3 3
GEERAANT T H 669[ 1,357 653 704 11 18 0 0 0 13 20 7 5 5 0
EEROARTAEE| 1,333 2,750 1,310| 1,440 27 33 0 1 1 28 48 20 5 8 3
IR 317 875 492 383 2| =10 0 0 0 -6 1 -4 1 5
WTIR-TH 701 1,695 847 848 1 -2 2 3 1 -2 3 -2 1 3
WHR =T A| 1,569 3,732] 1,839 1,893 19 29 1 5 4 24 52 28 4 7 3
HPR=TH 812l 2,172 1,063| 1,109 3 10 -1 0 1 2 10 9 10 1
HHPRMNTH 4921 1,212 584 628 -2 -2 -1 0 1 -3 2 2 4 2
WIRAE 3,574| 8,811 4,333| 4,478 21 35 1 8 7 21 67 46 13 22 9
AHR-TH 641\ 1,567 764 803 -6 -13 2 2 0 -9 7 16 -6 0 6
R _TH 855( 2,172 1,066| 1,106 0l  -11 1 1 0 -5 11 16 -7 2 9
AHR=TH 436 960 496 464 -2 -3 -1 0 1 -2 6 8 0 0 0
JbdRAEH 1,932 4,699 2,326 2,373 -8 -27 2 3 1 -16 24 40 -13 2 15

H R 315 793 375 418 3 2 0 0 0 5 10 -3 0 3
Wi 1,591 4,958 2,271| 2,687 1 3 -3 1 4 4 10 2 2 0
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FYE— T H 774/ 1,848 914 934 3 -2 -3 0 3 0 14 14 1 4 3
FwE _TH 698[ 1,867 951 916 1 5 -1 1 2 5 10 5 1 4 3
FHE=TH 624] 1,567 780 787 1 -2 1 2 1 0 3 -3 1 4
FMEM T H 894f 2 197 1,080| 1,117 0 -7 0 2 2 -9 13 2 4 2
FVERT H 579 1,393 681 712 -1 -6 -1 0 1 -7 10 17 2 2 0
FREANTH 406[ 1,016 487 529 -5/ =10 -2 0 2 -8 0 8 0 0 0
PEAE| 3,975 9,888] 4,893 4,995 -1 -22 -6 5 11 -19 41 60 3 15 12
L 521| 1,155 572 583 18 25 0 0 0 20 27 7 5 5 0
e —T [ 323 695 342 353 1 0 0 0 0 3 3 2 4 2
=T H 585( 1,362 664 698 -6 4 4 0 —4 4 8 0 1 1
A2 908[ 2,057| 1,006| 1,051 -5 4 4 0 —4 7 11 2 5 3
El—TH 327 724 375 349 -34]  -31 2 2 of  -29 117 146 -4 2 6
= _TH 648l 1,383 668 715 1 0 0 1 1 4 13 9 —4 0 4
EH=TH 402[| 1,028 518 510 -2 -2 0 0 0 2 3 6 —4 0 4
waE 1,377 3,135] 1,561 1,574  -35|  -33 2 3 1 -23 138 161 -12 2 14
HE-T 8 377 1,008 482 526 1 3 -1 0 1 4 2 0 0 0
WHE T H 424[ 1,074 530 544 0 1 0 0 0 -2 4 3 3 0
s =TH 754 1,938 980 958 -4 -11 1 2 1 -7 16 -5 0 5
HHENT A 454 1,056 502 554 1 1 0 7 10 3 0 0 0
WHE T A 725l 1,661 817 844 -2 0 2 4 12 0 1 1
s AT 217 477 248 229 7 0 0 0 7 3 0 0 0
WEASH 2,951 7,214 3.559| 3, 655 10 -1 3 4 13 47 34 -2 4 6
<BWEL—TH 603[| 1,430 704 726 -5/  -15 0 of -15 9 24 0 0 0
<MEIZTH 704 1,534 751 783 12 2 2 11 22 11 1 1 0
<MEIN=TH 506( 1,163 577 586 0 2 -1 0 1 3 4 0 0 0
<HENTH 507| 1,119 558 561 -3|  -10 0 1 1 -12 16 2 2 0
e 347 778 430 348 -6 -6 -1 0 1 -5 7 0 0 0
<X AE 2,667 6,024] 3,020 3,004 -5  -17 -2 3 5| -18 44 62 3 3 0
PEARIT—TH 779 1,703 851 852 10 3 0 1 1 4 27 23 -1 2 3
WIEARIT —TH 434f 1,076 537 539 4 -2 -2 0 2 -1 10 11 1 1 0
WEARNTSE 1,213 2,779 1,388 1,391 14 1 -2 1 3 3 37 34 0 3 3
we 452 862 427 435 -3 —4 0 1 1 —4 3 7 0 3 3
s T H| 1,007 1,672 741 931 47 48 1 1 0 16 71 25 1 3 2
kAT H 402 686 318 368 4 1 1 0 2 13 11 1 2 1
ok n=TH 618/ 1,681 787 894 -1 1 1 0 -2 16 18 0 1 1
ke AT H 385 836 398 438 2 2 2 2 0 2 11 9 -2 2 4
sk aaE| 2,412 4,875] 2 244 2 631 55 53 5 5 0 48 111 63 0 8 8
SRR T 20 59 31 28 0 0 0 0 0 0 0 0 0 0 0
g 767l 1,816 885 931 0 —4 -1 1 2 -2 9 11 -1 0 1
R 276 667 321 346 2 3 0 0 0 3 4 1 0 0 0
PR — T H 411 1,092 559 533 4 1 -1 0 1 2 10 8 0 0 0
R =T H 383 904 441 463 2 1 0 1 1 1 10 9 0 0 0
H R A B 794 1,996] 1,000 996 6 2 -1 1 2 3 20 17 0 0 0
PR — T 625 1,368 686 682 1 2 -1 0 1 -1 7 4 4 0
PEEER T A 502 1,219 578 641 0 -8 1 1 0 -5 11 —4 0 4
PR A SR 1, 127 2,587 1,264 1,323 1 -6 0 1 1 -6 12 18 0 4 4
Ve R 287 664 335 329 -2 -2 0 0 0 -2 8 0 0 0
[ SIR/N 221 549 293 256 0 2 0 0 0 2 1 0 0




